RAKNEONING 6
0.9:28  Bestim avean av omicdet R defwigat Sver
y=)x| oh uwder Yy=12— X"

Lé'{m:'ngf Kuvvovna Y= (x| ah Y=12 -x" 505/‘" \Bvndg,

< =1p-x", x<0
al 1X & %
d [= 12-x* & X = 12X, %30

i} _
e SXF=Xx-12=0,x<0 @{X.: S2VE +12 0w x20,,
x'L+x-—12’O/7‘>’O X= ':’;ijéuz om X20
l + ,_ Ve X T2 o
£y ) X737 5 m X 3 om xe
Sy % om X 20 =3 om x%0

@L- V. §. Saa/nm?)www&fer ' (i— 3‘)‘3)3

Vi ser al-

3
en R = f (2-x*)ax - [ ix)dx = 1 jamna miegander]-
-3
3

2](2 -X"= x)dx =2(1x-5x > Lx )} =

o
= 2 (2373 1 3 (20-40> 3-0%)=
=2 (%-9- 57):72-18—-‘7 =Y5

M Pecalma H(Z> 6w “(x} = 3)([ fdt

Lowaf; Hix) = x f e e dat



H

:>»u’(x) zf e *dt-r%X““fe“Pt

_ 3fe dt+3xe' k)=

~3f€P&f+3X€ =

—-—.3f e‘tdt+(9><€ e
= ') = :s,f e VEat + 6-He

:O%ZVQ 2’ Zl//e

5.6:30 Bealtna fsec X an'y dy = f (:am X ——dX

¢os ® y

Losning:  Egtecm Slan )= L o -

’ c.r X
Vi 3ub5ﬁ¥m‘rawén W= dan X, V)‘ ha/r

J

| | 2
éavn dx (:a\n X dx _ f (g,y,-z)(w#cé&zx) 2 dX
oS

p cosSHU ¥ Ca}“ﬁL’ Cos Uy b XCGS'LX
Tng.eHan 4
S~ X +(05"X - >
= j ( > o X T =
cost x cos X

-—j@‘m <o 1) Than cd:x~

):(,{ famx

TS Jj(wou,a,w
Cas"x

= j(u F2U +DL‘ “du j(“ routeun”)dus '

' —
::"“U + — "' {/L’F -
U rsaunC

0 7%t 2 b e L e
“?mwx.fgé@m)(&éawxq'c



©. 1:20  Bewlma ya esm (hn x) 4x . g
, ' i
Logning: )y T - / “n (mx)dx. Vi L
T =/ sin(in x)dx:fudv = W/ f‘fé“ g

H )

"

|

| Lat w= sin(nx) y dVi=dx
VS, dw :Cos(hnx)—l,ix , V = Xj-:

= (QW\ aV] X)X}} f X Co0S (lw x) "-i)( =
= v (me)e- SM(M )1 = Zos (1 x) 4 =

To I
- P.T.
| Qs,‘h1~/ COS(IMX)dXz€QW”fde —

= esm | ~(uV)!€»fevéw>: l’
I

=llat  w=coslinx) , dvs dy
i =—swvllx)cdx , v=x =

| e e ‘

_ B e, 0\
= ¢sm | (Cos(le)Kls f'XC 5""("""))de>'
= Qg ] ~CoS(lmx)x}€ j g,vw(lnx)dx

- QﬁM [ — (Cof(lme)e S(IV;?) l,

| = esm ;_ e cos | +1-T | ger -elevdiion i I,
L& wut I T = ;[@(@5!*5:\/} I)+fj

0:2:28  Begmpa [—36

cos 6() +sm€§ '

Losng: Vi leommer brja  med  sabstitufiongn (= Sin @

for att {& HIl en valionel] mlegand. |y for:



~ Jcos GCHgMé) ~J cos 6(l+5m 9) (l SM(LG\)(H“SMé)“
B [u," s 6 |

B da'CoSédGJN (z—u")(:m}

— dw B ‘_
I(O%OO U))()-HA) ,f(l*u)(l+u)z ’*(ﬁk)

W pentialbailesupps el ilegande, :

] "ot A B <
(l—‘/‘)(H‘U)? T o—-u " 1-;—0( (+u)7’ =
_ AU+ BU-uX1+u)+ C(1- a)
(-DO+u)?
_ AQ+2csu?) + B1-u)+ (-Cu
- O—u)Cr+u)® N
- (/4‘73)“"1‘(2‘4-—(:)(;, + (A+B+C)
G—wOC1+u)*

Vi far elovationssysiem ef :

A-B = O

24 —C =0

A+RB+C =
1. -1 06 [t -] ©]o

~ 10 2»«\0?~[0 2 —ilo 2] ~

o 2 1|1 o o0 2|1 f]

l —«1010 z-lOo; | 00|ty

Nlo ] ..1/2_ ~lo 1 Oy "’[010 '/‘I]
O O ‘l/z @ o © 1/2 | 00} 2

A= B= i/«4 , =2

— (¥) j( lf/u l:{i (:+/i) >du =

o



4

— %lm)ifu)‘(/l)*ilmlh—u)-éT‘;J«FC:

——

- L 1+u —
g In I 2(1+u) +C
|

— .-) H‘SM@ _ |
Y 4 |- $in® 2(!7‘31‘0@) + C

- 47«3"32 ' @eféum XW A-X o 1
Losning: i 4oc fSaten omier Sobshifufion t—r“*x ;

Seécm Sa‘r Vi en omvand  Substifution,

jx2—~x A-[th+ :‘»x*—l_
G 7 , ]

dt—F&x B
j 2—(t%=) 4t = j\}:’;’t dt =
_ [t:fz‘ Sinn W ]:fm\]?coméu=

d,t:\}‘?CoS(,{du,

= 3fm@5u du =3ff:os?c?<os_a&u

- 3fC05LU. du = Sf{]-!‘CoZS 2w Ay =
2 (w+5sm2u) +C ':‘%(u;-;v!%ucﬁ w)+(=

-2
= 2(wr smuJi—shu ) + C =Tsmu= 5=

:z(m,w_-+,. R

= —~awc5M "*” -}x-rrl Q-X)‘FC

(D&Hﬁ bordo @9 +€3¥QS ;ﬂ?a al(a Izaﬁfaalq all. b€0&€m> @




H—x‘“’
ob
Loﬁvy'\/;q S d x o0 X X
+ _
..’f L+x __j‘,o\ l+x“4é { l+xY d X
s
=5 =1
Lat 055 o po I, [ocst. |
f
l—,)_ = f X - U X aX u=X ]
o Lrx" . R o 1+(x%)* Al = 2xd X
R 4 2
- Im “ _ L uw e _
R—22 3 |+ u? 2 Roe 2
= L Jivn — L (1w -
2 l(,Lf—aoq - (p—"*@m@a/wg O)
_ L T _
- 22 T Y
Pa, Samma  sald ,paFS 5
0 < ’ )(d)( -
= - dx = I ‘ - = . =
‘E’ _/;o L+xM IQM—oOQ ‘i-fQ(Q’) e
T ~L/A_ awm o }:
= L 1 (ockm w}) L(0—tim _archan
|/ T\_ T |
z ( 2) a Y
. “n
- > : = + - A = —
f [.;—x‘*l E [?— (J+ V/) O



